(3) ERER

BER LEHOFEEH (A)_ LEEEH B) _ BB - TERE _(C) <= D) = B) + (_C) B’EE (E) = D) / (A X100
5 z &t 3 z & 3 z &t 3 z &t £ z &t

& | 79,252 79,032 | 158,284 36,707 34,022 70,729 8,423 8,750 17,173 45,130 42,772 87,902 56.94 54.12 55.53
X ®# B 123 133 256 72 73 145 9 9 18 81 82 163 65.85 61.65 63.67
i i) 522 550 1,072 253 247 500 58 51 109 311 298 609 59.58 54.18 56.81
= H 1,644 1,713 3,357 732 685 1,417 136 172 308 868 857 1,725 52.80 50.03 51.39
b= I 1| B 1,617 1,758 3,375 784 749 1,533 143 167 310 927 916 1,843 57.33 52.10 54.61
= K A 1,270 1,388 2,658 534 522 1,056 119 125 244 653 647 1,300 5142 46.61 48.91
b= Y 1 | = 883 862 1,745 388 363 751 70 63 133 458 426 884 51.87 49.42 50.66
& £ 648 703 1,351 322 343 665 72 75 147 394 418 812 60.80 59.46 60.10
BN B 1,042 1,018 2,060 472 428 900 108 93 201 580 521 1,101 55.66 51.18 53.45
B ES 1,202 1,248 2,450 573 564 1,137 170 156 326 743 720 1,463 61.81 57.69 59.71
S R 700 743 1,443 346 341 687 82 96 178 428 437 865 61.14 58.82 59.94
Bl Ji 1,175 1,367 2,542 490 508 998 156 169 325 646 677 1,323 54.98 49.52 52.05
i 5 863 892 1,755 439 413 852 67 66 133 506 479 985 58.63 53.70 56.13
vix X 1,202 1,174 2,376 577 536 1,113 142 122 264 719 658 1,377 59.82 56.05 57.95
= B ¥ — 1,716 1,631 3,347 861 814 1,675 178 166 344 1,039 980 2,019 60.55 60.09 60.32
EJ - R 789 603 1,392 402 310 712 102 51 153 504 361 865 63.88 59.87 62.14
B R B — 2,202 2,070 4,272 1,209 1,135 2,344 212 222 434 1,421 1,357 2,778 64.53 65.56 65.03
BROR B Z 1,558 1,373 2,931 691 602 1,293 167 141 308 858 743 1,601 55.07 5412 54.62
B OR = 744 500 1,244 386 257 643 99 45 144 485 302 787 65.19 60.40 63.26
Eig H 2,104 2,116 4,220 945 828 1,773 301 360 661 1,246 1,188 2,434 59.22 56.14 57.68
R FE - 1,246 1,111 2,357 516 444 960 143 155 298 659 599 1,258 52.89 53.92 53.37
MK FEZ 1,199 1,195 2,394 524 494 1,018 140 145 285 664 639 1,303 55.38 53.47 54.43
AR FE - 1,096 1,118 2,214 534 541 1,075 106 100 206 640 641 1,281 58.39 57.33 57.86
ARFEZ 1,784 1,675 3,459 780 687 1,467 202 212 414 982 899 1,881 55.04 53.67 54.38
%2 8 5 — 1,027 1,059 2,086 454 444 898 135 144 279 589 588 1,177 57.35 55.52 56.42
2 5 8 — 895 836 1,731 392 323 715 103 107 210 495 430 925 55.31 51.44 53.44
XKAKRE — 1,393 1,355 2,748 578 498 1,076 151 191 342 729 689 1,418 52.33 50.85 51.60
KAREZ 1,959 1,936 3,895 854 775 1,629 249 275 524 1,103 1,050 2,153 56.30 54.24 55.28
5 1L 1,822 1,943 3,765 926 850 1,776 200 206 406 1,126 1,056 2,182 61.80 54.35 57.95
® R £ — 1,058 1,054 2,112 612 525 1,137 101 126 227 713 651 1,364 67.39 61.76 64.58
® R 8 = 1,122 1,078 2,200 444 417 861 110 122 232 554 539 1,093 49.38 50.00 49.68
B = R 1,608 1,468 3,076 759 656 1,415 152 116 268 911 172 1,683 56.65 52.59 54.71
iR E 7 k& 1,569 1,703 3,272 687 660 1,347 148 161 309 835 821 1,656 53.22 48.21 50.61
X 8 % — 1,503 1,550 3,063 739 721 1,460 146 154 300 885 875 1,760 58.88 56.45 57.65
X B % = 1,744 1,777 3,521 795 766 1,561 172 181 353 967 947 1,914 55.45 53.29 54.36
= IR 1,556 1,587 3,143 853 793 1,646 166 189 355 1,019 982 2,001 65.49 61.88 63.67
R I 1,997 1,993 3,990 950 903 1,853 184 191 375 1,134 1,094 2,228 56.79 54.89 55.84
K PN 1,743 1,553 3,296 783 658 1,441 201 194 395 984 852 1,836 56.45 54.86 56.70
X & » 1,941 1,635 3,576 867 702 1,569 204 188 392 1,071 890 1,961 55.18 54.43 54.84
A B E — 1,179 1,294 2,473 527 520 1,047 101 118 219 628 638 1,266 53.27 49.30 51.19
A B E = 1,522 1,384 2,906 656 543 1,199 170 165 335 826 708 1,534 54.27 51.16 52.79
A B E = 1,848 1,791 3,639 852 795 1,647 218 214 432 1,070 1,009 2,079 57.90 56.34 57.13
X ®M H 683 683 1,366 334 309 643 64 75 139 398 384 782 58.27 56.22 57.25
2 & IR 1,172 1,185 2,357 533 483 1,016 153 142 295 686 625 1,311 58.53 52.74 55.62
m oa % 1,375 1,487 2,862 565 565 1,120 164 180 344 729 735 1,464 53.02 49.43 51.15
B A N 355 360 715 190 178 368 41 39 80 231 217 448 65.07 60.28 62.66
B 293 281 574 152 122 274 33 42 75 185 164 349 63.14 58.36 60.80

R oA A 398 416 814 184 179 363 55 49 104 239 228 467 60.05 54.81 57.37
BOR K 83 75 158 34 33 67 20 19 39 54 52 106 65.06 69.33 67.09




— SEOERER (A LERER B) B - AEREH (0) | BER 0) = B) + ©) [BRE © = D)/ K x10
] = &t B = &t B = : B % &t B S &t

A @B [ 132 140 272 68 66 134 12 17 29 80 83 163 60.61 59.29 59.93
H = 2,369 2,326 4,695 1,018 950 1,968 306 310 616 1,324 1,260 2,584 55.89 5417 55.04
VA NP = 1,576 1,579 3,155 695 624 1,319 165 167 332 860 791 1,651 54.57 50.09 52.33
iz H 1,584 1,549 3,133 718 668 1,386 159 163 322 877 831 1,708 956.37 53.65 54.52
H R 1,729 1,849 3,578 605 584 1,189 144 158 302 749 742 1,491 43.32 40.13 41.67
X 1,655 1,738 3,393 835 802 1,637 126 155 281 961 957 1,918 58.07 55.06 56.53
nHH W 1,323 1,440 2,763 663 673 1,336 99 116 215 762 789 1,551 57.60 54.79 56.13
n R % — 1,209 1,225 2,434 583 563 1,146 134 156 290 "7 719 1,436 59.31 58.69 59.00
n Rm £ = 2,380 2,409 4,789 1,033 958 1,991 283 300 583 1,316 1,258 2,574 55.29 52.22 53.75
w R 432 438 870 201 190 391 42 61 103 243 251 494 96.25 57.31 96.78
? B E — 555 589 1,144 267 253 520 56 4 127 323 324 647 58.20 55.01 56.56
B FE = 743 743 1,486 383 381 764 46 68 114 429 449 878 57.74 60.43 59.08
YEARN - N 1,480 1,556 3,036 680 636 1,316 148 162 310 828 798 1,626 55.95 51.29 53.56
X &8 £ — 2,051 2,096 4,147 1,004 990 1,994 175 185 360 1,179 1,175 2,354 57.48 56.06 56.76
X #M % = 333 365 698 154 160 314 47 61 108 201 221 422 60.36 60.55 60.46
L B 348 355 703 159 146 305 35 29 64 194 175 369 95.75 49.30 52.49
= [ 167 193 360 82 72 154 22 21 43 104 93 197 62.28 48.19 54.72
= b 12 18 30 9 14 23 1 1 2 10 15 25 83.33 83.33 83.33




